Form P-359 Rev. 12-19-2007

TABULATION

DESCRIPTION:

Wheel Tractors					CONTRACT NO.:	H-15-249R	DATE OPENED: 1/27/2015
	RY:	Within 180 da	ays after award		FOB:	Barling, Little Rock, Camden & Paragould	PAGE: 1 of 7
	Williams Tractor 2501 N. Shiloh Dr. Fayetteville, AR 72702 Tim Bailey 479-442-8284					· arageona	
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT PURCHASES
1.	8	23,996.00	191,968.00	Case	75C Farmall	180 Days ARO	8/1/2015
2.	1	28,366.00	28,366.00	Case	75C Farmall	180 Days ARO	8/1/2015
3.	6	35,194.00	211,164.00	Case	100C Farmall	180 Days ARO	8/1/2015
4.	1	37,637.00	37,637.00	Case	100C Farmall	180 Days ARO	8/1/2015
5.	3	37,687.00	113,061.00	Case	100C Farmall	180 Days ARO	8/1/2015
6.	1	43,196.00	43,196.00	Tractor: Case Mower: Alamo	75C Farmall Switch Blade	180 Days ARO	8/1/2015
7.	1	112,188.00	112,188.00	Tractor: New Holland Mower: Diamond	T6.155 DBM-C-P	180 Days ARO	8/1/2015
TOTAL: 737,580.00							
RECOMMENDED AWARD: 333,395.00							
TENTATIVE AWARD BY: Purchasing Committee						DATE: 2/6/2015	CARD: 00-21 & 01-35
ITEM(S): 1, 2 & 5 ONLY							
AWARDED TO: Williams Tractor (2/17/2015)						_	

Form P-359 Rev. 12-19-2007

TABULATION

DESCRIPTION: Wheel Tractors CONTRACT NO.: H-15-249R DATE OPENED: 1/27/2015 FOB: Barling, Little Rock, Camden & PAGE: 2 of 7 Within 180 days after award DELIVERY: Paragould Greenway Equipment Inc. 25315 I-30 South VENDOR: Bryant, AR 72022

	Sam Meyer 501-786-4044						
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT PURCHASES
1.	8	27,637.51	221,100.08	John Deere	5075M	90 to 180 Days	5/15/2015
2.	1	31,978.63	31,978.63	John Deere	5085E	90 to 180 Days	5/15/2015
3.	6	33,204.18	199,225.08	John Deere	5100M	90 to 180 Days	5/15/2015
4.	1	36,022.77	36,022.77	John Deere	5100E	90 to 180 Days	5/15/2015
5.	3	37,846.55	113,539.65	John Deere	5100M	90 to 180 Days	5/15/2015
6.	1	39,750.07	39,750.07	Tractor: John Deere Mower: Alamo	5075E Switchblade	90 to 180 Days	5/15/2015
7.	1	124,095.75	124,095.75	Tractor: John Deere Mower: Alamo	6115M Versa	90 to 180 Days	5/15/2015
	TOTAL: 765,712.03						
RECOMMENDED AWARD: 274,99			274,997.92				

DATE: 2/6/2015

TENTATIVE AWARD BY: Purchasing Committee

ITEM(S): 3, 4 & 6 ONLY

AWARDED TO: Greenway Equipment, Inc. (2/18/2015)

Form P-359 Rev. 12-19-2007

TABULATION

		DESC	CRIPTION:				
Wheel Tractors					CONTRACT NO.:	H-15-249R	DATE OPENED: 1/27/2015
					FOB:	Barling, Little Rock, Camden &	PAGE: 3 of 7
DELIVER			ays after award			Paragould	
		way Equipmer	nt Inc.				
	25315 I-30 South						
VENDOR:	Bryant	, AR 72022					
	ALTERNATE						
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT PURCHASES
1.	8	29,238.88	233,911.04	John Deere	5085M	90 to 180 Days	5/15/2015
					5075M (Nebraska Test Show	•	
2.	1	33,751.70	33,751.70	John Deere	` 65 PTO +)	90 to 180 Days	5/15/2015
3.	6	33,612.47	201,674.82	John Deere	5100M (16.9 x 30 8 Ply)	90 to 180 Days	5/15/2015
4.	1	39,842.68	39,842.68	John Deere	5100M	90 to 180 Days	5/15/2015
5.	3	39,549.04	118,647.12	John Deere	5100M (18.4R30 Tires)	90 to 180 Days	5/15/2015
6.	1	47,109.52	47,109.52	Tractor: John Deere	5075M	90 to 180 Days	5/15/2015
<u> </u>	·	17,100.02	17,100.02	Mower: Alamo	Switchblade	co to loc Baye	0, 10,2010
7.			N/B				
TOTAL: 674,936.88							
RECOMMENDED AWARD:							
I ILOON	MIVICIAD	LD AWARD.					CARD: 00-21 & 01-35
TENT	ATIVE	AWARD BY:	Purchasing Com	mittee		DATE: 2/6/2015	021
		•	-				
ITEM(S): AWARDED TO:						•	
AWARDED TO.						•	

Form P-359 Rev. 12-19-2007

TABULATION

DESCRIPTION: DATE OPENED: 1/27/2015 CONTRACT NO.: H-15-249R Wheel Tractors PAGE: 4 of 7 FOB: Barling, Little Rock, Camden & DELIVERY: Within 180 days after award Paragould Baker Implement Company 11625 Hwy. 412 West Paragould, AR 72404 VENDOR: Jarrod Jordan 870-450-4697 ITEM NO. QTY. PRICE EXTENSION MAKE MODEL **DELIVERY** ADDITIONAL UNIT PURCHASES 28,500.00 1. 228,000.00 Case IH Farmall 75C 7/24/2015 12/31/2015 2. 31,300.00 31,300.00 Case IH Farmall 75C 7/24/2015 12/31/2015 3. Case IH Farmall 100C 40,500.00 243,000.00 7/24/2015 12/31/2015 4. 41,500.00 41,500.00 Case IH Farmall 100C 7/24/2015 12/31/2015 3 5. 41,500.00 124,500.00 Case IH Farmall 100C 7/24/2015 12/31/2015 Tractor: Case IH Farmall 75C 69,500.00 6. 69,500.00 9/1/2015 12/31/2015 *Mower: US Flail Tractor: Case IH Maxxum 125 7. 138,821.00 138,821.00 4/30/2015 12/31/2015 Mower: US Boom *Exceptions to Specs - Flail Mower TOTAL: 876,621.00 **RECOMMENDED AWARD:** CARD: 00-21 & 01-35 TENTATIVE AWARD BY: Purchasing Committee DATE: 2/6/2015 ITEM(S): _____ AWARDED TO:

Form P-359 Rev. 12-19-2007

TABULATION

DESCRIPTION: Wheel Tractors CONTRACT NO.: H-15-249R DATE OPENED: 1/27/2015 FOB: Barling, Little Rock, Camden & PAGE: 5 of 7 DELIVERY: Within 180 days after award Paragould Capitol Equipment 7200 Landers Rd. VENDOR: Sherwood, AR 72117 Steve Knight 501-834-9999 ITEM NO. QTY. **PRICE EXTENSION** MAKE MODEL **DELIVERY** ADDITIONAL UNIT PURCHASES 29,322.00 234,576.00 T4.75 8/31/2015 1. New Holland Within 180 Days 2. 32,855.00 32,855.00 New Holland T4.75 Within 180 Days 8/31/2015 6 42,398.00 New Holland T4.100 3. 254,388.00 Within 180 Days 8/31/2015 4. 45,760.00 45,760.00 New Holland T4.100 Within 180 Days 8/31/2015 5. 44,747.00 134,241.00 New Holland T4.100 8/31/2015 Within 180 Days M8560HF Tractor: Kubota 43,529.00 43,529.00 6. 1 Within 180 Days 9/30/2015 Mower: Terrain King Sickle Bar Mower N/B 7. 1 TOTAL: 745,349.00 **RECOMMENDED AWARD:** CARD: 00-21 & 01-35 TENTATIVE AWARD BY: Purchasing Committee DATE: 2/6/2015 ITEM(S): AWARDED TO:

Form P-359 Rev. 12-19-2007

TABULATION

DESCRIPTION:

CONTRACT NO.: H-15-249R DATE OPENED: 1/27/2015 Wheel Tractors Barling, Little Rock, Camden & FOB: PAGE: 6 of 7 Within 180 days after award Paragould DELIVERY: CNH Industrial America LLC DBA New Holland Agriculture VENDOR: 500 Diller Avenue (MS 248) New Holland, PA 17557 Wayne Crow 717-355-1683 ITEM NO. QTY. PRICE **EXTENSION** MAKE MODEL **DELIVERY** ADDITIONAL UNIT PURCHASES 1. 29,103.00 232,824.00 New Holland Ag Power Star T4.75 9/15/2015 8/31/2015 New Holland Ag Power Star T4.75 2. 30,817.00 30,817.00 9/15/2015 8/31/2015 6 3. 41,198.00 247,188.00 New Holland Ag T4.100 9/15/2015 8/31/2015 New Holland Ag 4. 43,215.00 43,215.00 T4.100 9/15/2015 8/31/2015 5. 43,215.00 129,645.00 New Holland Ag T4.100 9/15/2015 8/31/2015 6. 1 N/B N/B 7. TOTAL: 683.689.00 **RECOMMENDED AWARD:** CARD: 00-21 & 01-35 TENTATIVE AWARD BY: Purchasing Committee DATE: 2/6/2015 ITEM(S):

Form P-359 Rev. 12-19-2007

TABULATION

DESCRIPTION: CONTRACT NO.: H-15-249R DATE OPENED: 1/27/2015 Wheel Tractors FOB: Barling, Little Rock, Camden & PAGE: 7 of 7 DELIVERY: Within 180 days after award Paragould Little Rock Equipment Sales 13001 I-30 VENDOR: Little Rock, AR 72209 Scott Moody 501-455-5700 ITEM NO. PRICE **EXTENSION** QTY. MODEL MAKE **DELIVERY** ADDITIONAL UNIT PURCHASES 8 N/B 1. 2. N/B 6 3. N/B 4. N/B 3 N/B 5. 1 N/B 6. Tractor: John Deere 6115M 7. 180 Days 7/27/2015 Mower: Tiger TRB - 50C-3PS Boom Mower 111.780.00 111.780.00 TOTAL: 111,780.00 RECOMMENDED AWARD: 111,780.00 CARD: 00-21 & 01-35 TENTATIVE AWARD BY: Purchasing Committee DATE: 2/6/2015 ITEM(S): 7 ONLY AWARDED TO: Little Rock Equipment & Sales (2/6/2015)